doi:10.13108/2024-16-4-76

# EMBEDDING THEOREMS FOR SUBSPACES IN SPACES OF FAST DECAYING FUNCTIONS

### I.Kh. MUSIN

Abstract. By means of the family  $\mathfrak{M} = \{M_{\nu}\}_{\nu=1}^{\infty}$  of separately radial convex functions  $M_{\nu} : \mathbb{R}^n \to \mathbb{R}$  we define the space  $GS(\mathfrak{M})$  of type  $W_M$ , which is a natural generalization of the space  $W_M$  introduced in works by B.L. Gurevich, I.M. Gelfand, and G.E. Shilov. By a certain rule, each function  $M_{\nu}$  is associated with a non-negative separately radial convex function  $h_{\nu}$  in  $\mathbb{R}^n$ . The properties of the functions  $h_{\nu}$  allows one to form, by the family  $\mathcal{H} = \{h_{\nu}\}_{\nu=1}^{\infty}$ , the space  $\mathbb{S}_{\mathcal{H}}$ , which is the inner inductive limit of countably-normed spaces  $\mathbb{S}(h_{\nu})$  of the functions  $f \in C^{\infty}(\mathbb{R}^n)$  with the finite norms

$$\|f\|_{m,\nu} = \sup_{\substack{x \in \mathbb{R}^n, \beta \in \mathbb{Z}^n_+, \\ \alpha \in \mathbb{Z}^n_+ : \|\alpha\| \leqslant m}} \frac{\|x^{\beta}(D^{\alpha}f)(x)\|}{\beta! e^{-h_{\nu}(\beta)}}, \qquad m \in \mathbb{Z}_+.$$

We consider the problem on finding conditions on  $\mathfrak{M}$ , which ensure continuous embedding of the spaces  $GS(\mathfrak{M})$  and  $\mathbb{S}_{\mathcal{H}}$  one to the other.

Key words: Gelfand – Shilov space of type  $W_M$ , convex functions.

Mathematics Subject Classification: 46F05, 46A13, 42B10

# 1. INTRODUCTION

1.1. Aim of work. Let  $\mathfrak{M} = \{M_{\nu}\}_{\nu=1}^{\infty}$  be a family of separately radial convex functions  $M_{\nu} : \mathbb{R}^n \to \mathbb{R}$  such that for each  $\nu \in \mathbb{N}$ 

$$j_1) \lim_{x \to \infty} \frac{M_{\nu}(x)}{\|x\|} = +\infty;$$

$$j_2) \lim_{x \to \infty} (M_{\nu}(x) - M_{\nu+1}(x)) = +\infty$$

For each  $\nu \in \mathbb{N}$  and  $m \in \mathbb{Z}_+$  we define the space

$$GS_m(M_{\nu}) = \left\{ f \in C^m(\mathbb{R}^n) : q_{m,\nu}(f) = \sup_{\substack{x \in \mathbb{R}^n, \\ \|\alpha\| \le m}} \|(D^{\alpha}f)(x)\| e^{M_{\nu}(x)} < \infty \right\}.$$

We let

$$GS(M_{\nu}) = \bigcap_{m \in \mathbb{Z}_+} GS_m(M_{\nu}).$$

Submitted July 18, 2024.

I.KH. MUSIN, EMBEDDING THEOREMS FOR SUBSPACES IN SPACES OF FAST DECAYING FUNCTIONS. (C) MUSIN I.KH. 2024.

The research is made in the framework of executing the development program of Scientific Educational Mathematical Center of Privolzhsky Federal District (agreement no. 075-02-2024-1444).

We equip  $GS(M_{\nu})$  with the topology defined by the family of norms  $q_{m,\nu}$   $(m \in \mathbb{Z}_+)$  and introduce the space

$$GS(\mathfrak{M}) = \bigcup_{\nu \in \mathbb{N}} GS(M_{\nu}).$$

Being equipped with usual summation and multiplication by the complex numbers,  $GS(\mathfrak{M})$  is a linear space. In  $GS(\mathfrak{M})$  we define the topology of inner inductive limit of the spaces  $GS(M_{\nu})$ . We note that the space  $GS(\mathfrak{M})$  is constructively more general that the space  $W_M$  [1]–[5], and the space of type  $W_M$  from [6].

By the family  $\mathfrak{M}$  we form one more family of non-negative separately radial convex functions  $h_{\nu}$  in  $\mathbb{R}^n$ . First we recall that the Young — Fenchel transform  $g^*$  of a function  $g : \mathbb{R}^n \to [-\infty, +\infty]$  is the function  $g^* : \mathbb{R}^n \to [-\infty, +\infty]$  defined by the rule [7]

$$g^*(x) = \sup_{y \in \mathbb{R}^n} (\langle x, y \rangle - g(y)).$$

It will be convenient to employ the following notation: if u is a function on a set  $X \subset \mathbb{R}^n$ containing  $(0,\infty)^n$ , then  $u[e](x) := u(e^{x_1},\ldots,e^{x_n})$  for  $x = (x_1,\ldots,x_n) \in \mathbb{R}^n$ . Now for each  $\nu \in \mathbb{N}$  we define the functions  $u_{\nu}$  on  $\mathbb{R}^n_+$  and  $h_{\nu}$  on  $\mathbb{R}^n$  be letting

$$u_{\nu}(t) = \sup_{y \in \mathbb{R}^{n}_{+}} (\langle t, y \rangle - M_{\nu}^{*}[e](y)), \qquad t \in \mathbb{R}^{n}_{+},$$
  
$$h_{\nu}(t) = u_{\nu}(||t_{1}||, \dots, ||t_{n}||) - u_{\nu}(0), \qquad t = (t_{1}, \dots, t_{n}) \in \mathbb{R}^{n}$$

Due to Condition  $j_1$ ) the functions  $u_{\nu}$  and  $h_{\nu}$  take finite values on  $\mathbb{R}^n$  and

$$\lim_{x \to \infty} \frac{h_{\nu}(x)}{\|x\|} = +\infty$$

while Conditions  $j_1$ ) and  $j_2$ ) yield

$$\lim_{y \to +\infty} (M_{\nu+1}^*[e](y) - M_{\nu}^*[e](y)) = +\infty,$$

and in it turn, this implies

$$\lim_{x \to \infty} (h_{\nu}(x) - h_{\nu+1}(x)) = +\infty$$

It is easy to verify that for each Q > 0 there exists a number  $C_Q > 0$  such that

$$h_{\nu}(x) \leqslant \sum_{1 \leqslant j \leqslant n: x_j \neq 0} x_j \ln \frac{x_j}{Q} + C_Q, \qquad x = (x_1, \dots, x_n) \in [0, \infty)^n.$$

Moreover, since the function  $u_{\nu}$  is convex and non-decreasing in each variable in  $\mathbb{R}^{n}_{+}$ , the function  $h_{\nu}$  is convex in  $\mathbb{R}^{n}$ , see, for instance, [8, Lm. 4]. It is obvious that  $h_{\nu} \in C(\mathbb{R}^{n})$ . We form the family  $\mathcal{H} = \{h_{\nu}\}_{\nu=1}^{\infty}$ .

By the family  $\mathcal{H}$  we define the space  $\mathbb{S}_{\mathcal{H}}$  as the inner inductive limit of countably-normed spaces  $\mathbb{S}(h_{\nu})$ , each being the projective limit of the spaces

$$\mathcal{S}_m(h_\nu) = \left\{ f \in C^m(\mathbb{R}^n) : \|f\|_{m,\nu} = \sup_{\substack{x \in \mathbb{R}^n, \beta \in \mathbb{Z}_+^n, \\ \alpha \in \mathbb{Z}_+^n : \|\alpha\| \leqslant m}} \frac{\|x^\beta(D^\alpha f)(x)\|}{\beta! e^{-h_\nu(\beta)}} < \infty \right\}, \qquad m \in \mathbb{Z}_+.$$

The spaces of form  $\mathbb{S}_{\mathcal{H}}$  were considered in the work [9].

The aim of this note is to find conditions for  $\mathfrak{M}$ , which ensure continuous embedding of the spaces  $GS(\mathfrak{M})$  and  $\mathbb{S}_{\mathcal{H}}$  one to the other. The study of this problem can be interesting for the embedding theory of spaces of differentiable functions.

**1.2. Results.** In the second section, by using auxiliary statements from the first section, we prove the following two results.

**Theorem 1.1.** The space  $GS(\mathfrak{M})$  is continuously embedded into  $\mathbb{S}_{\mathcal{H}}$ .

**Theorem 1.2.** Let the functions in the family  $\mathfrak{M}$  be such that for each  $\nu \in \mathbb{N}$ 1) for some  $a_{\nu} > 0$ 

$$M_{\nu+1}^*(x) - M_{\nu}^*(x) \ge \sum_{j=1}^n \ln x_j - a_{\nu}, \qquad x = (x_1, \dots, x_n) \in [1, \infty)^n;$$

2) for some  $b_{\nu} > 0$ 

$$M_{\nu}(x) - M_{\nu+1}(x) \ge \sum_{j=1}^{n} ||x_j|| - b_{\nu}, \qquad x = (x_1, \dots, x_n) \in \mathbb{R}^n.$$

Then the space  $\mathbb{S}_{\mathcal{H}}$  is continuously embedded into  $GS(\mathfrak{M})$ .

Thus, under the assumptions of Theorem 1.2 the spaces  $\mathbb{S}_{\mathcal{H}}$  and  $GS(\mathfrak{M})$  coincide.

**Remark 1.1.** The most essential part of Theorem 4 in [8] corresponds to a particular case of Theorem 1.2 when the functions in the family  $\mathfrak{M} = \{M_{\nu}\}_{\nu=1}^{\infty}$  satisfy the condition: for each  $\nu \in \mathbb{N}$  there exists a number  $C_{\nu} > 0$  such that

$$M_{\nu+1}(2x) \leqslant M_{\nu}(x) + C_{\nu}, \quad x \in \mathbb{R}^n, \quad \nu \in \mathbb{N}.$$

A condition of such kind is typical for all earlier studied spaces of type  $W_M$ . It is also easy to show that in this case for some  $K_{\nu} > 0$ 

$$h_{\nu}(x) - h_{\nu+1}(x) \ge \ln 2 \sum_{j=1}^{n} x_j - K_{\nu}, \quad x = (x_1, \dots, x_n) \in \mathbb{R}^n_+,$$
$$h_{\nu+1}(x+y) \le h_{\nu}(x) + h_{\nu}(y) + K_{\nu}, \quad x, y \in \mathbb{R}^n_+.$$

**1.3.** Notation.  $\mathbb{R}^n_+ := [0, \infty)^n$ . For  $t \ge 0$  we let  $t^+ = \max(t, 1)$ . For  $x = (x_1, \dots, x_n), y = (y_1, \dots, y_n) \in \mathbb{R}^n, \alpha = (\alpha_1, \dots, \alpha_n) \in \mathbb{Z}^n_+$  we let

 $\langle x, y \rangle = x_1 y_1 + \dots + x_n y_n,$ 

||x|| is the Euclidean norm x,

$$\|\alpha\| = \alpha_1 + \ldots + \alpha_n, \qquad \alpha! = \alpha_1! \cdots \alpha_n!, \qquad x^{\alpha} = x_1^{\alpha_1} \cdots x_n^{\alpha_n}$$

By  $U(\mathbb{R}^n)$  we denote the set of all separately radial convex functions  $u: \mathbb{R}^n \to \mathbb{R}$  such that

$$\lim_{x \to \infty} \frac{u(x)}{\|x\|} = +\infty.$$

# 2. AUXILIARY RESULTS

In the proofs of Theorems 1.1 and 1.2 we shall need the following statements.

**Proposition 2.1.** Let  $g = (g_1, \ldots, g_n)$  be a vector function in  $\mathbb{R}^n$  with convex components  $g_j : \mathbb{R}^n \to [0, \infty)$  and a function  $f : \mathbb{R}^n \to \mathbb{R}$  be such that  $f_{|[0,\infty)^n}$  is convex and non-decreasing in each variable. Then  $f \circ g$  is convex in  $\mathbb{R}^n$ .

The proof can be found in [8].

**Proposition 2.2.** Let  $u \in U(\mathbb{R}^n)$ . Then

$$(u[e])^*(x) + (u^*[e])^*(x) = \sum_{\substack{1 \le j \le n:\\ x_j \ne 0}} (x_j \ln x_j - x_j), \quad x = (x_1, \dots, x_n) \in [0, \infty)^n \setminus \{0\};$$
$$(u[e])^*(0) + (u^*[e])^*(0) = 0.$$

For the functions  $u \in U(\mathbb{R}^n) \cap C^2(\mathbb{R}^n)$  this proposition was proved in [8], while the general case was proved in [10].

**Proposition 2.3.** Suppose that for some  $a_{\nu} > 0$  ( $\nu \in \mathbb{N}$ )

$$M_{\nu+1}^*(x) - M_{\nu}^*(x) \ge \sum_{j=1}^n \ln x_j - a_{\nu}, \quad x = (x_1, \dots, x_n) \in [1, \infty)^n.$$

Then

$$h_{\nu+1}(x+y) \leqslant h_{\nu}(x) + c_{\nu}, \quad x \in \mathbb{R}^n_+, y \in [0,1])^n,$$
(2.1)

where  $c_{\nu} = u_{\nu}(0) - u_{\nu+1}(0) + a_{\nu}$ .

*Proof.* Let  $x \in \mathbb{R}^n_+, y \in [0,1])^n$ . Then

$$u_{\nu+1}(x+y) = \sup_{t \in \mathbb{R}^n_+} (\langle x+y,t \rangle - M^*_{\nu+1}[e](t))$$
  
= 
$$\sup_{t \in \mathbb{R}^n_+} (\langle x,t \rangle - (M^*_{\nu+1}[e](t) - M^*_{\nu}[e](t)) + \langle y,t \rangle - M^*_{\nu}[e](t))$$
  
$$\leqslant \sup_{t \in \mathbb{R}^n_+} (\langle x,t \rangle - M^*_{\nu}[e](t)) + a_{\nu} = u_{\nu}(x) + a_{\nu}.$$

This implies the inequality (2.1).

**Proposition 2.4.** Suppose that for each  $\nu \in \mathbb{N}$  for some  $b_{\nu} > 0$ 

$$M_{\nu}(x) - M_{\nu+1}(x) \ge \sum_{j=1}^{n} ||x_j|| - b_{\nu}, \quad x = (x_1, \dots, x_n) \in \mathbb{R}^n$$

Then for all  $t \in \mathbb{R}^n_+$ 

$$(M_{\nu+1}^*[e])^*(t) \leq h_{\nu}(t) + d_{\nu}, \quad t = (t_1, \dots, t_n) \in \mathbb{R}^n_+,$$
 (2.2)

where  $d_{\nu} = u_{\nu}(0) + b_{\nu}$ .

*Proof.* Using the separate radiality of the functions  $M_{\nu}$  and the assumptions, we have

 $M_{\nu+1}^*(x) \ge M_{\nu}^*(x+y) - b_{\nu}, \qquad x = (x_1, \dots, x_n) \in \mathbb{R}^n_+, \qquad y \in [0, 1]^n.$ 

Then for all  $t = (t_1, \ldots, t_n) \in \mathbb{R}^n_+$ 

$$(M_{\nu+1}^{*}[e])^{*}(t) = \max(\sup_{y \in \mathbb{R}^{n}_{+}} (\langle t, y \rangle - M_{\nu+1}^{*}[e])(y)), \sup_{y \in \mathbb{R}^{n} \setminus \mathbb{R}^{n}_{+}} (\langle t, y \rangle - M_{\nu+1}^{*}[e])(y)))$$

$$\leq \max(\sup_{y \in \mathbb{R}^{n}_{+}} (\langle t, y \rangle - M_{\nu+1}^{*}[e])(y)), \sup_{y \in \mathbb{R}^{n}_{+}} (\langle t, y \rangle - M_{\nu}^{*}[e])(y) + b_{\nu})$$

$$\leq \sup_{y \in \mathbb{R}^{n}_{+}} (\langle t, y \rangle - M_{\nu}^{*}[e])(y)) + b_{\nu} = u_{\nu}(t) + b_{\nu} = h_{\nu}(t) + d_{\nu}.$$

The proof is complete.

#### I.Kh. MUSIN

## 3. Proof of Theorem 1.1

Let  $f \in GS(\mathfrak{M})$ . Then  $f \in GS(M_{\nu})$  for some  $\nu \in \mathbb{N}$ . Let  $m \in \mathbb{Z}_+$  and  $x = (x_1, \ldots, x_n) \in \mathbb{R}^n$ be an arbitrary point with non-zero coordinates. Then for  $\alpha \in \mathbb{Z}_+^n$  with  $\|\alpha\| \leq m$  we have

$$\|(D^{\alpha}f)(x)\| \leqslant q_{m,\nu}(f)e^{-M_{\nu}[e](\ln\|x_{1}\|,...,\ln\|x_{n}\|)}$$

Since the function  $M_{\nu}[e]$  with finite values in  $\mathbb{R}^n$  is convex on  $\mathbb{R}^n$ , we have  $M_{\nu}[e] = ((M_{\nu}[e])^*)^*$ . This is why the previous inequality implies

$$\|(D^{\alpha}f)(x)\| \leqslant q_{m,\nu}(f)e^{-\sum_{j=1}^{n} t_j \ln \|x_j\| + (M_{\nu}[e])^*(t)}, \qquad t = (t_1, \dots, t_n) \in \mathbb{R}^n_+$$

By Proposition 2.2 this implies that for all  $t = (t_1, \ldots, t_n) \in \mathbb{R}^n_+$ 

$$\|(D^{\alpha}f)(x)\| \leqslant q_{m,\nu}(f)e^{-\sum_{j=1}^{n} t_j \ln \|x_j\| + \sum_{1 \leqslant j \leqslant n: t_j \neq 0} (t_j \ln t_j - t_j) - (M^*_{\nu}[e])^*(t)}.$$
(3.1)

Since for  $t \in \mathbb{R}^n_+$ 

$$(M_{\nu}^{*}[e])^{*}(t) \ge \sup_{y \in \mathbb{R}^{n}_{+}} (\langle t, y \rangle - M_{\nu}^{*}[e])(y)) = u_{\nu}(t) = h_{\nu}(t) + u_{\nu}(0),$$

continuing estimating in (3.1), we obtain that for all  $t = (t_1, \ldots, t_n) \in \mathbb{R}^n_+$ 

$$\|(D^{\alpha}f)(x)\| \leqslant e^{-u_{\nu}(0)}q_{m,\nu}(f)e^{-\sum_{j=1}^{n}t_{j}\ln\|x_{j}\| + \sum_{1\leqslant j\leqslant n:t_{j}\neq 0}(t_{j}\ln t_{j}-t_{j})-h_{\nu}(t)}$$

In particular, for all  $\beta = (\beta_1, \dots, \beta_n) \in \mathbb{Z}_+^n$ 

$$\|x^{\beta}(D^{\alpha}f)(x)\| \leqslant e^{-u_{\nu}(0)}q_{m,\nu}(f)e^{-h_{\nu}(\beta)}\prod_{1\leqslant j\leqslant n:\beta_{j}\neq 0}\frac{\beta_{j}^{\beta_{j}}}{e^{\beta_{j}}}$$

This inequality is obviously true for each  $x \in \mathbb{R}^n$ . This implies that for all  $x \in \mathbb{R}^n$ ,  $\alpha \in \mathbb{Z}^n_+$  with  $\|\alpha\| \leq m$  and  $\beta \in \mathbb{Z}^n_+$ 

$$||x^{\beta}(D^{\alpha}f)(x)|| \leq e^{-u_{\nu}(0)}q_{m,\nu}(f)\beta!e^{-h_{\nu}(\beta)}.$$

Therefore,

$$||f||_{m,\nu} \leq e^{-u_{\nu}(0)}q_{m,\nu}(f).$$

Since  $m \in \mathbb{Z}_+$  was arbitrary, we have  $f \in S(h_{\nu})$ . Hence,  $f \in S_{\mathcal{H}}$ . The latter inequality also implies the continuity of embedding of the space  $GS(\mathfrak{M})$  into the space  $S_{\mathcal{H}}$ .

# 4. Proof of Theorem 1.2

Let  $f \in \mathbb{S}_{\mathcal{H}}$ . Then  $f \in \mathbb{S}(h_{\nu})$  for some  $\nu \in \mathbb{N}$ . Let  $m \in \mathbb{Z}_+$  be arbitrary. Then for all  $\alpha \in \mathbb{Z}_+^n$  with  $\|\alpha\| \leq m, \beta \in \mathbb{Z}_+^n$  and  $x = (x_1, \ldots, x_n) \in \mathbb{R}^n$  with non-zero coordinates

$$\|(D^{\alpha}f)(x)\| \leq \frac{\|f\|_{m,\nu}\beta!e^{-h_{\nu}(\beta)}}{\prod\limits_{j=1}^{n}\|x_{j}\|^{\beta_{j}}}$$

Taking into consideration that

$$j!\leqslant e\sqrt{2\pi(j+1)}\frac{(j^+)^j}{e^j}$$

for each  $j \in \mathbb{Z}_+$ , we then find

$$\|(D^{\alpha}f)(x)\| \leqslant (e\sqrt{2\pi})^{n} \|f\|_{m,\nu} e^{-h_{\nu}(\beta)} \prod_{j=1}^{n} \frac{(\beta_{j}^{+})^{\beta_{j}}}{(e\|x_{j}\|)^{\beta_{j}}}.$$
(4.1)

Let us estimate from above the quantity

$$e^{-h_{\nu}(\beta)} \prod_{j=1}^{n} \frac{(\beta_{j}^{+})^{\beta_{j}}}{(e \|x_{j}\|)^{\beta_{j}}}.$$

For  $\beta \in \mathbb{Z}_+^n$  we let

$$\Omega_{\beta} = \{ t = (t_1, \dots, t_n) \in \mathbb{R}^n : \beta_j \leqslant t_j < \beta_j + 1 \ (j = 1, \dots, n) \}$$

Using the non-decreasing of  $h_{\nu}$  in each variable in  $\mathbb{R}^n_+$  and Proposition 2.3, for  $\mu = (\mu_1, \ldots, \mu_n) \in (0, \infty)^n$  and  $t \in \Omega_\beta$  we have

$$e^{-h_{\nu}(\beta)} \prod_{j=1}^{n} \frac{(\beta_{j}^{+})^{\beta_{j}}}{\mu_{j}^{\beta_{j}}} \leqslant e^{-h_{\nu+1}(t)+c_{\nu}} \prod_{j=1}^{n} \frac{\mu_{j}^{+}(t_{j}+1)^{t_{j}}}{\mu_{j}^{t_{j}}}.$$

Therefore,

$$\inf_{\beta \in \mathbb{Z}_{+}^{n}} e^{-h_{\nu}(\beta)} \prod_{j=1}^{n} \frac{(\beta_{j}^{+})^{\beta_{j}}}{\mu_{j}^{\beta_{j}}} \leqslant e^{c_{\nu}} e^{t = (t_{1}, \dots, t_{n}) \in \mathbb{R}_{+}^{n} (\sum_{j=1}^{n} (\ln \mu_{j}^{+} + t_{j} \ln(t_{j}+1) - t_{j} \ln \mu_{j}) - h_{\nu+1}(t))}$$

Using then Proposition 2.4, we get

$$\inf_{\beta \in \mathbb{Z}_{+}^{n}} e^{-h_{\nu}(\beta)} \prod_{j=1}^{n} \frac{(\beta_{j}^{+})^{\beta_{j}}}{\mu_{j}^{\beta_{j}}} \leqslant K_{1} e^{t = (t_{1}, \dots, t_{n}) \in \mathbb{R}_{+}^{n}} \sum_{j=1}^{n} (\ln \mu_{j}^{+} + t_{j} \ln(t_{j}+1) - t_{j} \ln \mu_{j}) - (M_{\nu+2}^{*}[e])^{*}(t))$$

where  $K_1 = e^{a_{\nu} + d_{\nu+1}}$ . By Proposition 2.2 this yields

$$\inf_{\beta \in \mathbb{Z}_{+}^{n}} e^{-h_{\nu}(\beta)} \prod_{j=1}^{n} \frac{(\beta_{j}^{+})^{\beta_{j}}}{\mu_{j}^{\beta_{j}}} \leqslant K_{1} e^{n} e^{t = (t_{1}, \dots, t_{n}) \in \mathbb{R}_{+}^{n}} \sum_{j=1}^{n} \ln \mu_{j}^{+} - \sum_{j=1}^{n} t_{j} \ln \frac{\mu_{j}}{e} + (M_{\nu+2}[e])^{*}(t))$$

Taking into consideration that the function  $(M_{\nu+2}[e])^*$  takes finite values on  $[0,\infty)^n$  and  $(M_{\nu+2}[e])^*(x) = +\infty$  for  $x \notin [0,\infty)^n$ , the above inequality can be rewritten as

$$\inf_{\beta \in \mathbb{Z}_{+}^{n}} e^{-h_{\nu}(\beta)} \prod_{j=1}^{n} \frac{(\beta_{j}^{+})^{\beta_{j}}}{\mu_{j}^{\beta_{j}}} \leqslant K_{1} e^{n} e^{-\sup_{t \in \mathbb{R}^{n}} (\sum_{j=1}^{n} t_{j} \ln \frac{\mu_{j}}{e} - (M_{\nu+2}[e])^{*}(t)) + \sum_{j=1}^{n} \ln \mu_{j}^{+}}.$$

We note that by Proposition 2.1 the function  $M_{\nu+2}[e]$  takes finite values in  $\mathbb{R}^n$  and is convex in  $\mathbb{R}^n$ . Therefore,  $M_{\nu+2}[e]$  is continuous in  $\mathbb{R}^n$  [7, Cor. 10.1.1]. Using then the formula for the inverse Young — Fenchel transform [7, Thm. 12.2], we get

$$\sup_{t \in \mathbb{R}^n} \left( \sum_{j=1}^n t_j \ln \frac{\mu_j}{e} - (M_{\nu+2}[e])^*(t) \right) = M_{\nu+2} \left( \frac{\mu_1}{e}, \dots, \frac{\mu_n}{e} \right).$$

Thus,

$$\inf_{\beta \in \mathbb{Z}_{+}^{n}} e^{-h_{\nu}(\beta)} \prod_{j=1}^{n} \frac{(\beta_{j}^{+})^{\beta_{j}}}{\mu_{j}^{\beta_{j}}} \leqslant K_{1} e^{n} e^{-M_{\nu+2}\left(\frac{\mu_{1}}{e}, \dots, \frac{\mu_{n}}{e}\right) + \sum_{j=1}^{n} \ln \mu_{j}^{+}}.$$

By (4.1) this implies

$$\|(D^{\alpha}f)(x)\| \leq K_1 2^n (e\sqrt{2\pi})^n e^n \|f\|_{m,\nu} e^{-M_{\nu+2}(x) + \sum_{j=1}^n \ln(1+\|x_j\|)}.$$

Using the second assumption of Theorem 1.2, we find that for some  $K_2 > 0$ , which depends on  $\nu$  and n, for all  $x \in \mathbb{R}^n$  with non-zero coordinates and for all  $\alpha \in \mathbb{Z}^n_+$  with  $\|\alpha\| \leq m$ 

$$||(D^{\alpha}f)(x)|| \leq K_2 ||f||_{m,\nu} e^{-M_{\nu+3}(x)}.$$

This inequality is obviously true for all  $x \in \mathbb{R}^n$ . Thus,  $f \in GS(M_{\nu+3})$  and

$$q_{m,\nu+3}(f) \leqslant K_2 ||f||_{m,\nu}, \quad f \in \mathbb{S}(h_\nu).$$

Hence,  $f \in GS(\mathfrak{M})$  and the embedding mapping is continuous.

# BIBLIOGRAPHY

- I.M. Gel'fand, G.E. Shilov. Generalized functions. Vol. 2. Spaces of fundamental and generalized functions. Fizmatgiz, Moscow (1958). [Academic Press, New York (1968).]
- I.M. Gel'fand, G.E. Shilov. Generalized functions. Vol. 3. Theory of differential equations. Fizmatgiz, Moscow (1958). [Academic Press, New York (1967).]
- 3. B.L. Gurevich. New spaces of fundamental and generalized function spaces and the Cauchy problem for finite-difference systems. Dokl. Akad. Nauk SSSR **99**:6, 893-896 (1954). (in Russian).
- B.L. Gurevich. New types of fundamental and generalized function spaces and the Cauchy problem for systems of difference equations involving differential operations // Dokl. Akad. Nauk SSSR 108:6, 1001-1003 (1956). (in Russian).
- 5. B.L. Gurevich. New types of spaces of fundamental and generalized functions and the Cauchy problem for operator equations // PhD thesis, Kharkov (1956). (in Russian).
- J. Chung, S-Y. Chung, D. Kim. Characterizations of the Gelfand Shilov spaces via Fourier transforms // Proc. Am. Math. Soc. 124:7, 2101–2108 (1996).
- 7. R.T. Rockafellar. Convex analysis. Princeton University Press Princeton, N. J. (1970).
- I.Kh. Musin. On a space of entire functions rapidly decreasing on R<sup>n</sup> and its Fourier transform // Concr. Oper. 2:1, 120–138 (2015).
- A.V. Lutsenko, I.Kh. Musin, R.S. Yulmukhametov. On Gelfand Shilov spaces // Ufim. Mat. Zh. 15:3, 91-99 (2023). [Ufa Math. J. 15:3, 88-96 (2023).]
- I.Kh. Musin. On a Hilbert space of entire functions // Ufim. Mat. Zh. 9:3, 111-118 (2017). [Ufa Math. J. 9:3, 109-117 (2017).]

Ildar Khamitovich Musin, Institute of Mathematics, Ufa Federal Research Center, RAS, Chernyshevsky str. 112, 450008, Ufa, Russia E-mail: musin\_ildar@mail.ru